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ECONOMICS
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(International Trade)

Full Marks : 60 Time : 24 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢

a) What is comparative cost advantage of

International trade?

qEEifes Afirey gaAaeTs U3 [ wice G
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b)  Define balance of payments.
Balance of payments-43 <@l 7l |

c) Distinguish between small and large open

economy.

TG J2& G TLeIoq AL e 1 |
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d)

g)

h)
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What is J-curve effect?

J-curve effect JeTCe & (@RI ?

What is floating exchange rate?

Az sl e 2= =2l qeTce 6 Q@R 2

Write the equation that gives the PPF of a
country in a Ricardian model and draw it in a

labelled diagram.

FHIteR et W6 @ PPF-ad A4 @12
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Differentiate between 'autonomous' and
'accommodating' transactions in the balance of

payments accounting.
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State the Metzler's paradox for the effects of a

tariff on the terms of trade.
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Is the fiscal multiplier for an open economy

smaller than that for a closed economy? Explain

briefly.
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i)

k)

D
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State two concepts of factor abundance in H-O

theory.
H-O ©0g Gl 2R i 1t e [Kye =11

Draw a labelled diagram of the offer curves of a

small open economy and the rest of the world.
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What is 'import quota'?
SISl quota 2
When is the policy of 'export subsidy' followed?

I AGI T i SepTe 23 ?

Distinguish between specific tariff and ad

valorem tariff rates.
TS @ IR Sl S {14 <52

Distinguish between 'terms of trade' and

'exchange ratio'.
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Answer any four questions: 5x4=20
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a)

b)

d)
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Compare and contrast the fixed and flexible
exchange rates in the international system of

payments.

Sgsios Jul R BT @3 AR = [Rfm
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Do you think tariff and quota restrictions have

identical effects? Explain.

O T 9 @, 9 € quota-3 Feraer Sifew 2 iyl
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How does a large country improve its social

welfare by levying an optimum tarift?

HAIEE B W A FF G0 T (7 O TS
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In respect of Ricardian trade theory analyse the

importance of 'complete specialisation'.

Rt Sweites e wrg o RS9
gy e 59 |

Deduce the formula of Marshall-Lerner

condition for success of devaluation.

A SIEETRICTS AP &« Marshall-Lerner
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3. Answer any two questions:

Explain the meaning of the statement 'Balance
of payments is always in balance'. Does it ensure

balance of payments equilibrium?
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10x2=20
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a)

b)
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Can there be any gain from trade if the
production point is fixed? Contrast it with the
case where production point can shift along the
PPF. Explain with the help of diagram(s).
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State and prove the Stolper-Samuelson

Theorem.
SRR Soiiwit afedl 7 |

How is Ricardo's trade theory in terms of
comparative cost analysis applicable in case of
trade between a large country and a small

country?
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d)
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Discuss 'repercussion effect' of an autonomous

increase in exports.
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